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Bl ~ 2 Y 9 Bk i3 ® T =3
10:00 (HA (%) 100mH¥ (375+24)13% 240 [10:00 /NE(B-%&) FENEBk 10:00 —fig-hF (B &) fahik
AEwk 65 (5) 448 —fR(5B) 14
10:15 |2 (5) 4x100mRF:&E (37%F+2) 12F— L 24H 5% (58) 84 —fik (&) 14
BEwk 6% (&) 34 FE(B) 64
10:25 [HEE (%) 800m¥ (2% +24)26% 3ff 5% (&) 5% hE (&) 94
10:40 [REER (B) 3000miR 74 10:30 /ME(FE-&) EEBk
6F (%) 34
11:00 | — & (B) 100m¥% (25F+24)174 3# 5&(5) 44 [11.00 NEEFE-K)VIFR—ILIE
65 (&) 14 6 (5) 9%
11:10 |2 (5) 100mF (A LL—RTF3E) 798 1~ 54 54 (%) 8% 5% (8) 5%
68 (&%) 24
11:25 |HhEE (5) 100m%F (A4 LL—RAFE) 6~09#f 5% (&) 5%
11:40 [FZ (%) 100m¥% (A LL—RAF:E)49% 648
12:00 |/NEGE(E)  100mF (BALL—RAFE) 128 240 (1200 —f%- 22 (B) EEk
AEYk —f%(5) 34
12:05 |/NEBE(B)  100mF (B LL—RAFR) 154 24 ) EF-E(%) 204
1210 /N2A%E(B)  100mF (A LL—ZF3R) 138 24 BEVR RER) 24
12:15 [INFBE (LX)  100mF (A LL—RAF:E) 154 24
12:20 [/NEBE(Z)  100mF (B4 LL—RF:E) 124 248
12:25 [INFAE (L)  100mF (B4 LL—RAF:E) 104 248
12:35 [—fig (B) 1500m¥% (& +44%)52% 44
13:05 [HE (%) 200m¥% (35F+24)1082 2% (1300 hF(B-k)ESB 13.00 —fig-hF (5B - %) A#EE
i (H) 84 FE(HE) 84
13:10 [FhZ2(58) 200m¥ (155+44)28% 448 h (&) 94 R (k) 114
13:25 [/M#E6-5%F (&) 800miR 8%
13:30 [/hE6-55F (B) 800miR 134
13:35 [HE (%) 800mik 8%
13:45 [HhEE (%) 100mH;R 84
13:55 | (5) 110mHR 94
14:05 | (&) 100mik 84 14:00 —fig- b2 (%) EMEBE
BEwk —fig(X) 14
14:10 | (5) 100miRk 84 hZ (&) 194
14:15 [/MNEAFE(Z) 100miR 8%
14:20 [/NVE5E (X)) 100miRk 8%
14:25 |/NE6HE(Z)  100miRk 84
14:30 |/MVE4AE(B)  100miR 84 14:30 —ﬂ%(%-t)lxgv—?&
14:35 [/N#54 (B)  100miR 8% mg(R) 28
14:40 |/MVE6HE(B) 100miR 84
14:45 [—fi& (B) 100mik 8%
14:55 [—fig (B) 400mik 94
15:05 [—#i& (%) 1500miR 234
15:15 [—fig (8) 1500mik 164
15:25 [HEE (%) 200miR 84
15:30 | (5) 200mik 8%
15:35 [—fig (8) 200miR 84
15:40 | (5) 3000miR 244
16:00 |/NEBE(ZK)  4X100mRIR  (7F—L)
16:05 |/NE6E(Z)  4X100mRIR (5F—L)
16:10 [/NFBE(B)  4x100mRR (7F—L)
16:15 |/NEGE(B)  4X100mRIR (7F—L)
16:20 [ (%) 4X100mRR (8F—L)
16:25 | (5) 4X 100mRIR  (8F—L)
16:30 | —fi% (5) 4X100mRIR (2F—L)
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